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&)(_) ) NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKEDTO DOSO) The process by which the group-values are intemalized by the individual is called :
(A) assimilation (B) intcgration
, - . . (C) socialization (D) accommodation
COMBINED COMPETITIVE (PRELIMINARY) EXAMINATION, 2011
Serial No. 00163 0 SOCIOLOGY B ‘There are three stages of development of socicty, namely savagery barbarism and civilization,
accordingto:
Code No. 20 (A) Darwin ® Morgn
(Time Allovwed : Two tours ( Maximum Marks 300 ) (C) - Spencee i Bts
INSTRUCTIONS When a person belicves that his culture is superior to other cultures, it is called :
1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK (A)  cthnicity (B)  cthnocentrism
THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES (€)  cultral snobbery (D) cultural relativism
OR ITEMS, ETC, IFF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET OF THE SAME
SERIES. “The view that the tribal people should be allowed to retain their special cl istic oming
2. ENCODE CLEARLY THE TEST BOOKLET SERIES A, B, C OR D AS THE CASE MAY BE IN THE a part of the main-stream, is known as :
APPROPRIATE PLACE IN THE RESPONSE SHEET. (A) cultural relativism (B) acculturation
3. You, have to enter your Roll Number on this Your Roll No. (C) assimilation (D) isolationism
Test Booklet in the Box provided alongside.
Do NOT write anything else on the Test Booklet, Which onc of the following does NOT represent ascribed status ?
4, “This Booklet 120 items (g ). Each item comprises four responses (answers). You will select (A) A father ) (B) Apriest
one response which you want to mark on the Response Sheet. In case you feel that there is more than one (€) ABrahmin (D) Ancta
correct resp , mark the resp which you ider the best. In any case, choose ONLY ONE response .
for each item. An Institution can be best described as a complex of :
5. In case you find any discrepancy in this test booklet in any question(s) or the Responses, a wrillen (A) authority (B) statuses
representation explaining the details of such alleged discrepancy, be submitted within three days, indicating (C) roles (D) procedures
the Question No(s) and the Test Booklei Serics, in which the discrepancy is alleged. Representation not ‘
received within time shall not be d at all. The C shall take appropriate decision on the Which oneof the following is the pre-requisite of social i ion?
p ions received in 1 with the Rules which shall be final. (A) Faceto face contact (B) Harmmony
6. You have to mark all your responses ONLY on the separate Response Sheet provided. See directions in the (C) Physical contact (D) Mutual orientation
Response Sheet.
7. All items carry equal marks. Attempt ALL items. Your total marks will depend only on the number of The process of accommodation is adopted in society to avoid :
correet responscs marked by you in the Response Sheet. (A} competition between people
8. Before you proceed to mark in the Resp Sheet the resp to various items in the Test Booklet, you (B) competition between ideologies
have to fill in some particulars in the Response Sheet as per instructions sent to you with your Admit Card (C) conflict between equals and non-equals
and Instructions. (D) integration between the formal and the informal
9. While writing Centre, Subject and Roll No. on the top of the Resp Sheet in appropriate boxcs usc
“ONLY BALL POINT PEN", “The process by which ideas and beliefs become part of the selfis called :
10. Afer you have completed filling in all your responses on the Response Sheet and the examination has (A) conformity (B) intemalization
concluded, you should hand over to the Invigilator only the Response Sheet. You are permitted to take away (C) imitation (D) institutionalisation
with you the Test Booklet.
[]:X] NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKEDTO DOE)]
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10.  Which onc ofthe following can be referred to as independently defined role ?

16.  Which one of the following constitutes a primary group ?
(A} Father (B) ‘Teacher (A) Allinmates of aprison
(C) Painter (D) Officer ®) Sug plantati o
(C) Members of Alcoholics Anonymous of ametropolis
11. Whichof .lhc following promote adoption of improved agricultural practices for diversification of (D) Mother and her three children
the cropping pattern 7
1 C ication faciliti
22]} Eznnml'inmlim e 17. Statusinconsistencyrefersto:
(3) Povert ’ = (A) differential ranking on the di of social stratification
@ 'I‘mdili:mJj.\nn (B) discrepancy and conflictin the status and rolc of an individual
Select the correct answer using the codes given below : (©) gaps be‘lwem expectation a‘nd BEEIEN0 4 ol 2 idual
(A) (1)and (4) (B) (1)and(2) (D) incompatibilityamong the differcnt statuses of an indiv
(€) (1),(2)and (3) (D) (2),(3)and (4) d
18. Which oncofthe following statements is correct ?
12.  Consider the [ollowing : (A) Social processes are always associali‘vc‘
(1) Movement of traits through space and time (B) Social processes arc always dxsasso?lgtlvc s i
(2) DifTusion of traits can be traced (C) Social processes may be both associative anddlsasscllulnnvc
(3) Diffusion can be direct or indirect. (D) Social processes are neither associative nor disassociative
Which of the above are the features of diffusion ? e b
(A) (1)and (3) B) (2and(3) 19 ‘Which one of the following best defines the term “kinship™?
(©) (1),(2)and (3) (D) (1)and(2) (A) Thegroupingofrclatives
(B) Thesocially recognized relationship
13. Theculture of Poverty refersto: (C) A rccognitionof culturally conditioned relationship .
(A) Slums (B) Suburbs (D) Thesocial recognition and expression of ‘gencalogical relationship
(C) Rural arca (D) Innercities .
20. Which oneis the comrect sequence of the given socio-cultural processes T
14, Coercionrefersto: (A) Cultural contact— Assimilation— Ammmnudalion—wnﬂwl
(A) Uscofphysical force to gain one’s interest (B) Accommodation — Assimilation— cultural contact — m_-‘m!cl
(3) Large-scale violence leading to disruption of social life (C) Cultural contact —conflict — Acc dation— A similal
(C) Prevalence of warring groups in society (D) Accommodation —conlict—cultural contact— Assimilation
(D) Social interaction in which one person or group forces its will on another 1zl Lo i
21. Whatisthe most important and basic factor for social integs L.T-Oth_ﬂ_ an
15.  Themain difference between class and status is that : (A) Value consensus (B) l\plaint_e.mnocot‘rclz_nwcmhlll)'
(A) the former refers to economic group and the latter to hereditary ranking of family (C) Structural interdependence (D) Condition of_:momlc
(B) the former is associated with ownership of means of production and the latter with styles of i g
- 22, Which one of the following is not covered under the “Element of social structure™?
(C) the former refers to personal power and the latter is associated with privileges that one (A) Deviation (B) Obscwnn‘f:c
enjoys : (C) Sanction (D) Group action
(D) the former refers to acquisition of political power and the latter to gain of social power
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Downloaded From:http://iasexamportal.com



Downloaded From:http://iasexamportal.com

23.  What are social norms ?
(A) Rules whoscobservanceis expected ina society
(B) Laws whose violation invariably leads to punishment
(C) Principles accepted as normal by sociology
(D) Codes which are prescribed in sacred texts

24. Joking relationships take place b
{A) husband and wife
(C) father and son

(B) motherand daughter
(D) brother-in-law and sister-in-law

25.  Which onc of following defines correctly the family which is created as a result of marriage and
the off springs consequently borm ?
(A)  Familyoforientation

(B) Familyof procreation
(C) Extended Family

(D) Joint Family

26.  Whichofthe following are included in the family of orientation 7
(1) one'sparents
(2) one’s spouse
(3) onc’ssiblings
Choosc the correct answer from the codes below :
(A) (1).(2)and (3) (B) (l)and(2)
(©) (@and(3) (D) (1)and(3)

27. Whichone of the following is the correct sequence in Comte's theory of change ?
(A) Theological - Positive_ Metaphysical
(B) Theological - Mectaphysical - Positive
(C) Metaphysical - Theological - Positive
(D) Positive ~ Metaphysical — Theological

28.  Which one of the following pairs of kin composition and type of family is correctly matched ?
(A) Ego’s mother, father and Sibling - Family of procreation
(B) [Ego’sbrothers, sisters and mother — Matrilineal family
(C) Ego’swifeand wife’s brother — Patrilocal family
(D) Ego’s husband and children - Family of oricntation

29.  Incompatible expectations lead to :
(A) Rolesqueeze
(C) Roleconflict

(B) Doublerole
(D) Rolemix

30. Genctic characteristics are evident among :

(4) affinal kins (B) consanguineal kins
(C) unilateral kins (D) bilateral kins
58D-24495-B 6
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32.

33.

34

35,

36.

37.

38.
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Ego’s wifcishis:
{A) primary consanguincal kin
(C) secondary kin

(B) primaryaffinal kin
(D) tertiary kin

Which of the following tribes practised polyandry 7
(A) Toda, Kota, Khasa, bhils and gonds  (B) kota, khasa, Toda and bhils
(C) Toda, kota, and khasa (D) only Todas

The Rules of Residence where a couple upon being married, go to live with the brother of the
groom’s mother, areknown as :

(A) Patrilocal (B) Matrilocal

(C) Anmculocal (D) Neolocal

Which one of the following Acts removed the restriction on “gotra” marriage ?
(A) The Hindu Marriage Validity Act, 1949

(B) TheSpecial Marriage Act, 1954

(C) TheHindu Marriage Disabilities Remowval Act, 1946

(D) TheHinduMarriage Act, 1955

Which of the following is the basis of the system of marriage followed by most parts of North
India?

{A) Village endogamy and gotra cxogamy

(B) Village cxogamyand gotra exogamy

(C) Village exogamyand preferential kin marriage

(D) Noneofthe above

Marriage with mother’s brother's daughter is a form of which one of the following :
(A) Restricted exchange (B) Direct exchange
(C) Discontinuous exchange (D) Generalized exchange

Which one of the following is not used for identifying, social strata ?

(A) Occupation (B) Income
(C) Intelligence (D) Education
Which of the following charactcristics are d with social 2

(1) Collectiveenterprise (2) Toestablish new social order
(3) Definite goals (4) Formalaction

Select the correct answer using the codes given below :

(A) (1)and(2) (B) (3)and (4)

(€) (1),(2)and (3) (D) (2),(3)and (4)
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47. Which one of the following helps to maintain the structural distance between castes ?

39. Theestate system is a feature of : _ ) Eeommicstall:ls (B) Pol'ftmlpowu _
(A) Post-industrial European Society ~ (B) Feudal Europe (C) Land ownership (D) Purityand pollution
(C) Indian Society (D) Ancient Egyptian Society

48, Inthe event of a decline in the rate of socio-economic change, social mobility likewise tends to
40. Themain difference between caste and class is that :

declinein:

(A) Caste -f:-pcmtcs in a classless soci:ityand class operates in casteless society (A) castestratification (B) estalestratification

(g) ‘?hasic is alwafys closed; a:; c!ass is a.iway‘s open 0 ) N (C) classstratification (D) ethnicstratification

() achci:::::lus given to an individual is ascribed in the casc of caste, whereas in class it is i 49, Whichoncofthe followingismot acharacteristicof conflict ?

(D) Theindividual suffers most in the case of caste whereas in class he does not (A) itisaconscious action ®) E‘fsam i g Lkt

(C) itisacollective social behaviour (D) itisanintegral part of social activities

41. Dual organisation as a functional ification prevalent among : !

(A) Castes (B) Class 50. A rural community without any village centre has been described by Edwards as:

(C) Ethclass (D) Tribes (A) Linevillage (B) Open-country community

(C) Down-country community (D) Closed community

42.  The system of caste stratification is based on :

?(\J; m:;xn %; Sept 51. Theconceptof “Pre-industrial socicty” was proposed by :

) (A) SaintSimon (B) KingsleyDavis

43. Falscconsciousness in a class stratification is dysfunctional as it obstructs a : (C) Sjoberg (D) Robert Park

(A) oftheirrolein the system (B) about their demands y i i

(C) oftheirrcal status (D) about themselves 52. A placewherc2/3 of the population is engaged in agriculture and 1/3 in secondary and tertiary

) occupations can bebest calleda

44. Thcpﬁrrc‘ipal sources of ritual pollution is/are : _ o (A) dty (B) town

(A) birth (B) bodilyemissions (©) ruraltown (D) rural market

(C) death (D) birth, bodily emissions and death
45. Which of the following are the defining features of the dominant caste ? 53, Herbert Spencer has classified types of societis from the simplest to themost complex according

: 5 . -} : :

(1) Numerical strength (2) Highestritual status i to their degrec of : )

(3) Highcconomic status (4) Highpolitical status (A) composition (B) aggregation

Select the correct answer using the codes given below : (C) social bond (D) knowledge

(A) (1),(2)and(3) (B) (1),(2)and(4)

(C) (1),(3)and(4) (D) (2),(3)and (4) 54, createsprovisions for integration in society.

n - . (A) Dishonesty (B) Material desires
46, Structural differentiation refersto: i £ .
- Dictatorship

(A) Progressive specialisation and autonomous functioning ofsocial units e T i

(B) Changes in the structural forms of social units

(C) Theprocessofevaluation and ranking of social institutions

(D) Theproliferation of social units
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56.

57.

58,

59.

In India a peasant is identified as one who :

(A) owns land and cultivates with the help of hired labour
(B) ownsland and cultivates with the help of family labour
(C)  uses traditional methods of cultivation

(D) is fatalistic in out look

Societics which are relatively small, non-literate, homogeneous and cohesive are called :
(A) Folk societies (B) Urban societies
(C)} Rural societies (D) Industrial societics

In which one of the following types of societies, the status of women is relatively better ?
(A)  Industrial society (B) Tribal society .
(C) Agrarian socicty (D) Post Industrial society

Find the odd man out :
(A) Hegal (B) Hobbes
(C) Dahrendorf (D) Durkhecim

Which of the following items was used by Durkheim to describe social phenomena that were
extemnal to individual yet constrained his action ?

(A) Social values (B) Social norms

(C) Social relations (D) Social facts

- Themost fundamental division of a class in any society is found between the :

(A) rich and poor
(C)  agriculturalistand industrialist

(B) commoners and rulers
(D) theist and atheist

61. Whichencofthe following is the primary sub-system specialized in relation to th daptive function
of a society 7
(A)  Polity (B) Economy
(C) Culture (D) Religion
62.  Production and exchange of goods and services for the satisfaction of wants is called -
(A) Productive action (B) exchange
{C) cconomic action (D) rational action
63.  Which oncofthe following is NOT an economic institution in the strict sociological sense ?
(A) Contract (B) Market
(C) Divisionof labour (D) Factory
§5D-24495-B 10

64. Which are the main fc ofthe lled (pl d) economy in India ?
(1) Thepolitics of “garibi hatao™
(2) Anti-poverty policics like land reforms
(3) Putting the weight of the state behind agricultural production
(4) Controlling the economy through public scctor economic units
Select the correct answer using the code given below :
(A) (1),(2)and (3) only @) (1),(3)and (4) only
(C) (2)and (4)only (D) (1),(2),(3)and (4)
65. Which among the following is not the defining feature of the concept of peasant ?
(A) They arcsmall producers ;
{B) They produce primarily for their own consumption
(C) They produce with the help of their own and that of the family labour
(D) Theyenjoy privileged position in state centred society
66. Cities in the primary phase of urbanization display : .
(A) heterogenetic transformation (B) generative Ira:lsfon'nanm:l
(C) parabitic transformation (D) orthogenetic transformation
67. Inwhich oneof the following types of cities do we find the elite class at the centre of the city ?
(A) Pre-industrial (B) Modem
(C) Historical (D) Commercial
68. Which ofthe following alfect the size of urban population in India ?
(1) Birthrate
(2) Deathrate
(3) Reclassification of places
Select the correct answer from the codes given below :
(A) (1),(2)and(3) (B) (1)and(2)
(C) (2)and(3) (D) (1)and(3)
69. Whichoncof the following terms is used for the spread of population and industry beyond the
borders of urban centres ? :
(A) urban sprawl (B) urbanization 3
(C) urban centre (D) Suburbanisation
70. When urban population grows and the proportion of urban population to the total popul
remains constant, is known as :
(A) urbanization (B) over-urbanization
(C) urban growth (D) population stability
SSD-24495-B _ 11
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71. When the conflicting parties try to adjust to cach other it is called :
(A)  sumender (B) adjustment
(C) accommodation (D) assimilation
72. Social interactionisap hrough which 1 fagroup:
(A) penetrate each other’s mind (B) develop a sense of healthy competition
(C) helpstrengthening social (D) savecach other from social ridicule
73, Article 335 in the Indian Constitution provides for reservation :
(A) ingovernmentservices for SC&/STs  (B) of scatsin Lok Sabha for SCs/STs
(C) ofscats in Vidhan Sabha for SCs/STs (D) ofseats in educational institutions for SC&/STs
74.  The [undamental characteristic of an industrial socictyis :
{A)  mechanised means of production (B) break up ofjoint families
(C) poverty (D) lack of faith inreligion
75.  The community development programme in India was launched in the year :
(A) 1947 (B) 1950
€ 1952 (D) 1956
76.  Which onc ol the following is the best criterion of contrast between a rural and
urban community ?
(A) peographic location (B) specific sizeof population
(C) specific density of population (D) diversification of occupations
77. Whichofthe following is not contained in Robert E Park’s social classification ?
(A) conflict (B) co-operation
(C) competition (D) accommodation
78, Accommodation is the natural result of _
(A) Competition (B) Integration
(C)  Isolation (D) Noneofthe above
79. Thethree-tier system of Panchayati Raj was ledby:
(A) Balwantrai Mehta Committee (B) Elwin Commiltec
(C) Dhebar Commission (D) Jaya Prakash Narain Committec
80. Which oneofthe following is a caste ?
(A) Marwari X (B) Bhil
(C) Sudra (D) Yadava
S5D-24495-R 12

81. What typeofvillage is found along the west coast of India, say in South Kanara and Kerala?
(A) Nucleated village (B) Dispersed village
(C) Integrated village (D) Deserted village
82. Castestatus is determined by :
(A) education (B) socialisation
(C) cconomicaffluence (D) birth
83. Inamulti-caste Indian village a Harijan family trics to follow the life style of a Brahman family.
G quently certain changes occur in the life style of the Harijan family. In sociological parlance
such changes are attributed to :
(A) imitation (B) sanskritisation
(C) enculturation (D) acculturation
84. The pattern of social stratification in developed societies is capable of being diag ically
represented in the shape ofa:
(A) diamond (B) pyramid
(C) rriangle (D) square
85. By casteism wemean :
(A) biasin favour of one’s own caste -
(B) bias in favour of not only one’s own caste but also against other castes
(C) bias against every caste
(D) biasin favour ofa few castes
86. Modem society is governed by :
(A) conventions (B) mlecoflaw
{C) divinelaw (D) physical force
87. always implies inhibition of certain ego centred drives.
(A) co-operation (B) conflict
(C) competition (D) accommodation
88. Fora person an adopted sonis:
(A) anaffinal kin
(B) aconsanguincous kin
(C) neither an affinal nor a consanguineous kin
(D) anaffinal kin as well as a consanguineous kin
§5D-24495-B 13
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89.The process of assimilation , as pointed out by involves both denationalisation and
renationalisation. i
(A) Maclver (B) KingsleyDavis
(C) Merton (D) Fairchild
90. Which one of the following can be considered a community ?
(A) students union (B) Tribe
(C) family (D) crowd
91. Whenth bers of any grooup share a specific goal of life and carry it out as per formal rules,
they constitute a/an : ]
(A) association (B) community
(C) institution (D) gang
92. 'Which one of the following terms is used by sociologists to describe the relatively stable, widely
blished procedures that develop around the norms and values of society 7
(A) Ideology ’ (B) Institution
(C) Role (D) Legislation
93. Taboois: N
(A) Polyncsian belief (B) aprohibition ;
(C) ritual mark worn by pious p (D) id b relatives
94, Working together to accomplish a goal that all desire, implies :
(A) competition (B) conflict )
(C) co-operation (D) compromise
95.  Asaprocess, conflict is of cooperation. )
(A)  mutual (B) anti-thesis
(C) synthesis (D) supportive
96. The conflict theory was advocated by :
(A) Maclver and Page (B) Herbert Spencer
(C) Talcott Parsons (D) Dahrendorf
97. Authoritycanbe: -
(A) legal (B) traditional
(C) charismatic (D) all ofthe above
SSD-24495-B 14

98.  Roleconflict does notarise when a person is given arole :
(A) which onedoesnot like
(B) which is not conducive to one’s environment
(C) when cach one works under a well-planned system
(D) when everybody is free to perform the role of one’s choice

=

99.  Whichofthe following is not the characteristic of a primary group ?
(A) Intimacy (B) Faceto face association
(C) Impersonal relationship (D) Physical proximity

100. Which of the following statements are correctly associated with Talcott Parsons
concept of Social System ?
(1) Social System means action system
(2) Social System is a sub-system of action system
(3)  Social System is made up of action systems
(4)  Social System is the system of interactive relationships of two or more

individual actions.

Scleet the correct answer using the codes given below :

(A) (1)and(2) (B) (2)and(3)
(€) (1)and(3) (D) (2)and (4)

101. A sub culture that adheres to a set of beliefs and values radically rejects the society’s dominant
culture and prescribes and altemative oneis :
(A) indo culture (B) subculture
(C) counter culture (D) real culture

102. Which one of the following statements is INCORRECT ?
(A) Racial Inter-mixture leads to degeneration
(B) The concept of pure race is a myth
(C) Inter-mixture of races is a universal phenomenon
(D) Noraceis superior or inferior to any other race

103. According to Durkheim, which one of the following is the principal source of
cohesion and solidarity in modem society ?
(A) Repressivelaws (B) Divisionoflabour i
(C) Greater intensity of class conflict (D) Expansion of education
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104, Which oncofthe following is a definition of cultural lag ?
(A) Inability of one culture to adopt traits of another culture
(B) Gap between material and non material culture
(C) Incompatibility between individual culture and group culture
(D) Sharingbetween material and non-material culture

105. Status over which the individual has absolutely no choice isknown as :
(A) Ascribed status (B) Master status
(C) Achieved Status (D) Keystatus

106. Which ofthe following are the basic characteristics of social group ?
m Physical p of two or more p
(2) Interaction between two or more persons
(3) Definite pattem of relationship
(4) Consciousness of members for belonging to the group
Select the correct answer using the codes given below :

(A) (1), (2)and (3) (B) (2),(3)and(4)
(©) (1).(3)and (4) ‘(D) (1),(2)and (4)
107. Thecomplement ofrole relationships which a colleg her has with pupils, coll principal
and ministerial staffrefers to his :
(A) multipleroles (B) roleconflict
(C) roleperformance (D) roleset

108. Who among the following is of the view that social structure is an abstract construction of social
reality and has nothing to do with the existing reality ?

(A) Spencer (B) Levi Strauss
(C) Leach (D) Brown
109. Theindividual forgets the ralemi uesisi ion, this impli
{A) conformity (B) rebellion
(C) deviance (D) retreatism
110, Which oneofthe following combinations is true regarding mod ization in India?
(A) Diffusion and acculturation (B) Evolutionand acculturation
(C) Evolution and diffusion (D) Evolution and regeneration
SSD-24495-B 16

1L

112,

13.

A social institution is :

(A) an established procedure that regulates human behavi

(B) aplace wheresocial functions are organized

(C) anorganization where social positions are formally defined
(D) anorganization that administers social service

A basic distinction bet I d civilization is :

(A) culture is what we have achieved and civilization is what we aspire to achieve
(B) cultureis what comes out of intelligence and civilization is not

(C) cultureissecondary and civilization is primary

(D) culture is what we are and civilization is what we have

When cultural traits spread from one society to another, the processis called :

(A) diffusion (B) parallelism
(C) evolution (D) pluralism
114. Which of the following is not included as a type of conflict ?
(A) War (B) Feud
(C) Litigation (D) Collectivebargaining
115. A pressure group is generally referred to as a/an :
(A) ethnic group (B)  informal group
(C) special interest group (D) caste group
116. According to R.K. Merton, arolesetis:
(A) asetofroles performed by the members in any group
(B) anarray of associated roles related to particular social status
(C) asetofroles of equal statuses in any group
(D) anarrayof'roles hierarchicallyordered in any group
117. A group to which wc compare ourselves when we judge our own status iscalled :
(A) kingroup (B) peer group
(C) secondary group (D) reference group
118. A changein social position that does not alter a person’s status s :
(A) social immobility (B) horizontal mobility
(C) vertical mobility (D) structural mobility
$5D-24495-B 17
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119. Competition has been described as “peaceful conflict” by :

(A) Spencer (B) Coser
(C) Weber (D) Frazer
120. Socialisation takes place :
(A) during childhood (B) duringyoungage
(C) duringthewholelife (D) atdifferentintervals
| SSD-24495-B 18
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